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PARTA—(10x2=20 marks)
Answer any TEN questions.

1. State the types of data.

BHEAUDSETIE cUmEEMETE Sn).
2. Define Average.

ggrefl — euanmuimy.
3.  What is Standard Deviation?

gL efleéstd eremmmed ereten?
4. What do you mean by correlation?

SL-Omey ereitig) Ll 2 108y Quingrer ereman?
5.  Define Time Series.

STOFSASTLIT— cueywig.

6.  List any two uses of Time Series.

- ensagTLfer @ram® LweaTLraamert Uiy wel@s.

T DBA - Burinesm Marumahic

14. Enumerate the advantages and disadvantages of
secondary data.

@a%FqB.@%EWW&E%&%%H%@EBBE_..O
Saniosenar efleufl. . : e

15. The median of a distribution is 27.73 and its mode
is 27.78. Find out the mean of the same.
@@ ureuedlenr Qe flaney 27.73 wiger wps® 27.78.
Sigen sprefewsd sam@ily. :

16. Find the coefficient of skewness from the mozosmbm\
information.

Difference of two quartiles =8

Mode =11

Sum of two quartiles =22

Mean =8

Seareumnd  ssaudsaldmbs  Csmiis Cswpereus

ser (g

Qe smeviomenmbigafen @EEE:@ © =8

@s6 =11

Qe snawramisaer sm (s0sTms = 22

a0 . =8
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7.  |How will you calculate Seasoral Index?
Lmeusred GluienL eraicummy semsdHeumi?

8.  |Give any two advantages of chain base index.
Gsm i euglinen GO QLamsaflen  perenosar
RQyeng e Qsm(.

9.  Write the utility of Consumer Price Index.
ElanGaunt eflenad @S iy et LeLITHEaer TPG|.
10. For what purpose R chart is used?

FrpanaL Gemeuss R euenru sengls Lwen ipagseomb?
11. What are the merits of stratified sample?

55515 e.0nDSseSen pemanioseT wWrameu?

12. When will you consider a samgle as large one?
sUGLTE @@ LT Quiy FDTESE &(HSIeumu1?
PARTB —(5x5=25 marks)

Answer any FIVE questions.

13.

oo

state and explain the factors influencing the size
f sample.

]

{ =

e jerencus Shonalls@d sryeflsmend s
Sené .

m
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17. From the following table fit a straight line trend
by the method of least squares.

Year : 2007 2008 2009 2010 2011 2012 2013
Production: 12 10 14 11 183 15 16
araumd il Lamandsmis o6 CrirGsm (L
unéSlenar B D euiiés wpepuier QuUNmSs :

=aor(® : 2007 2008 M,oow 2010 2011 2012 2013
epugd: 12 10 14- 11 13 15 16

18. The following table gives the number of defects in
carpets manufactured.

CarpetS.No.: 1 2 3 4 5 6 7 8 9 10

No.of Defects: 3 4 5 6 83 3 5 3 6 2

Determine the Central line and control limits for
Cichart.

Gareumd Sl euamenr  2pusd Qe L
afifdyselid Geopur@ea wapdler aaramismaamus

S{HETDSI.
AL |l au.orair : 12345678910
GPPTL-wema) 345633536 2
CTETENT I ENG

CravaruLggidarer pReuflens LPMIL s GUUTLE
ereuanaanwé sanflésain.
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19. A sample of 10 house owners is drawn and the
following values of their incomes are obtained.

Mean Rs. 6,000, standard deviation Rs. 650. Test
the hypothesis that the average income of house
owners is Rs. 5,500 (at 5% level).

el igen 2 Menwwmerigar 10 Cui CQamawr g wrHh
a@ssuLL(H Seuisefer eu@Lmearnd G T e w
DemeuqpLd wHIyseT AuipLiul Hererer.

ggnad . 6,000, Sl alewssEd . 650. Qeunammpés
Gasran® eI @ e flevwwrerisafien symef euLOmeamD
5. 5,500 erapiid earmsBavans (5% wiLsded) Comganar
Qeuwi.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
20. Discuss the various components of time series in a
detailed manner.
sns@sm Mer LwCaun 2 dTeTLGsmismer afleurd.

21. Find the missing frequency from the following
"data : i &

Marks : 0-10 10-20 20-30 30-40 40-50 50-60
No. of students: 5 15 20 = 20 10

The arithmetic mean is 34 marks.
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Wemeupd saeuerseial@hg CaaviGwim, umed wHmLd
Qegefen @D OLarsmers samad (.
UMSHET Il LiLIenL o ar(h BLLILmeor(H)

cllene (¢h.) ofemey eflenay (e5.) eTay

A 5 25 6 30
B 3 8 4 10
C 2 10 3 8

D 10 4 3 5

24. From the following data test whether the
difference between the variances is significant at
5% level of significance :

Sample ! A B
Sum of squares of deviations from  84.4 .102.6
the mean . ,

Size . 8§ 10

YeraupLbd sseucsatalmhgl Ll Enss @ Guiwmer
Gaumunr(® smsSed Qsmarensssast erear 5% wiL sl
Gend). :
wrfl A B
syprefulleflmhg er@salL L dlwssmsafles -84.4 102.6
auGsmsafen sl HS05T0S
wrdfluller sierey 8 10
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emeumid saeudseilalmbs eNPLLL. SienaCeudmeneantd

sevr(HiLdlig.
E%DDEQ&QQH o..Ho 10-20 20-30 30-40 40-50 50-60
LDTGH0TGU T i A
TG ERT|GEn m 15 20 N 20 10

sal_ (H&ggnafl wglCuemr 34.

22. Find the coefficient of correlation from the
following data :

X: 65 66 67 67 69 70 72
Y: 67 68 65 68 72 69 71
Qeneupd> eursemss Asman® @UHpeys Qapmeus
s 91y .
X: 65 66 67 67 69 70 72
" Y: 67 68 65 68 72 69 71

23. Compute Laspeyre’s Paasche’s and Fisher’s index
numbers from the following data :

Items - Base year Current year

Price (Rs.) Quantity Price (Rs.) Quantity

A 5 25 6 30
B 3 8 4 10
C 2 10 3 8
D TGRS 3 5
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